
Question -1) What is the underlying assumption in the Finance Secretary’s statement about
using less automation andmore labour?

A. Automation is cheaper than hiring labour.

B. The current economic policies have successfully created jobs.

C. Financial incentives alone are enough to change company behaviors.

D. Increasing labour usage will lead to more job creation.
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Question -2) Which of the following can be inferred from the passage about the Modi
government's economic policies prior to the ELI scheme?

A. They were highly successful in job creation.

B. They focused primarily on GDP growth and production.

C. They were based on bottom-up economic interventions.

D. They led to significant improvements in living standards for all citizens.

Question -3) Which of the following, if true, would most strengthen the argument in favor of
the ELI scheme?

A. Companies have historically responded positively to financial incentives.

B. Automation has led to a decrease in job opportunities.

C. The ELI scheme is similar to policies used successfully in other countries.

D. Companies are currently facing high marginal labour costs.

Question -4) Which of the following, if true, would weaken the argument that the ELI scheme
will lead to significant job creation?

A. Companies find it cheaper to invest in automation than to hire new employees.

B. Previous incentive schemes did not yield the expected increase in jobs.

C. The global market favors companies with high levels of automation.

D. The scheme offers insufficient financial incentives to make a significant impact.

Question -5) What is the primary purpose of the passage?

A. To criticize the Modi government’s economic policies.

B. To highlight the success of the ELI scheme.

C. To discuss the shift in economic policy from production incentives to employment incentives.

D. To propose new economic reforms for job creation.
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Question -6) Based on the passage, what is a potential drawback of the ELI scheme according
to neo-liberal economists?

A. It might lead to increased unemployment.

B. It could reduce the productivity and global competitiveness of Indian companies.

C. It may result in higher operational costs for companies.

D. It might not be sufficient to counter the effects of automation.
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